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10+ .
5_
c\JI
% ) * normal
> ® senescent
= 07 f&
_5_
-5 0 5 10
UMAP_1
Cluster 12: sensig_150_bin_0.05_gsig
10 1
5_
c\JI
% normal
> ® senescent
- 0 -
_5_
-5 0 5 10
UMAP_1
sensig 150 bin_0.05_gsig
2N_yng 2N_old
101 e
5_
O_
_5_
NI
ol
< normal
= Dpl6_yng Dpl6_old ® <enescent
= 10+ : :
5_
O- %e ..
_5_
5 10 -5 0 5 10
UMAP_1
SenSig Scores
Q\
>I 50+
o
LO
HI 25-
o)
7))
c O
)
7))
—251 ] . . .
2N _yng 2N _old Dpl6 yng Dpl6 old
normal senescent pct.cond pct.total
2N_yng 622 3 0.482315112540193 0.111940298507463
2N _old 491 1 0.203665987780041 0.0373134328358209
Dpl6_yng 764 6 0.785340314136126 0.223880597014925
Dpl6_old 788 5 0.634517766497462 0.186567164179104



